Z)\Clients\Therma Tru PERMANENT\B - Texas Dept of Ins\TDI - DR XXX - 6'8, 7' & 8' Glazed FG Nonimp IS Dir Set Sidelites (TX 5140-5145)\C - Drawings\TX-5142-43.dwg

THERMARTRU

DOORS

Fiber-Classic. & Smooth-Star.

WOOD OR COMPOSITE EDGE

GLALZED FIBERGLASS SINGLE DOOR

w/ DIRECT SET SIDELITE(S)

INSWING
"NON-IMPACT"

EVALUATED FOR USE IN THE STATE OF TEXAS

The Fiberglass Door system described herein complies with the 2018 Infernational
Residential Code (IRC), Sections R301 & R609 and the 2018 International Building Code
(IBC), Sections 1404.13, 1609, 1709.5, 2403 and 2404 subject to the following conditions:

1. Anchors shall be as listed and spaced as shown in the details. Anchor embedment to

base material shall be beyond wall dressing or stucco.
2. When used in areas requiring wind-borne debris protection this product is required to
be protected with an impact resistant covering that complies with Section R301.2.1.2
of the IRC and Section 1609.1.2 of the IBC.
3. Allowable design pressure requirements must be equal to or less than the design
pressure rating shown in the design pressure chart, sheet 1 of this drawing.

S

Conditions not covered by this drawing are subject to further engineering analysis.
Fiber-Classic and Smooth-Star Door and Sidelite panels require the use of "J" part

numbers. These door and sidelite panels must be stained or painted within six months
of installation.

TABLE OF CONTENTS
SHEET # | DESCRIPTION SHEET #
1 Typical Elevations, Design Pressures & General Notes 6 Vertical Cross Sections
2 Door Panel Details 7 Frame Anchoring
3 Sidelite Panel Details 8 Hardware Details
4 Elevations 9 Glazing Details
5 Horizontal Cross Sections 10 | Bill of Materials & Components

) L
mRh Yy 3
,_9’—"\':?» %1“1111 “8
L * :Qi.&%?z? 53 N
- =R AR 2 £ )
SIS0 NEST 8 g
Su ixEd o'{’p‘){: " S5 sB 3T
e b i0iS BNY Yt 25y ae
puil iy 2N M|ty GRS e
2O Vhizie gio § 92 3,
/?‘». .2 :1"' e - 0 9 o o o
e 10T ek |sF £iE S
AT S 3 232 BDF
,12\/ e L2 Y ".Q(< = B>"o “m"é
e e 2o0 b
lt #il1: el on 26
B g8 9% ay
3 287 b
o 9 .c ,°
& 508 gu
& ooan g 5
2 § mg
E R
ox X0 E K s
]
[¥2]
]
55
nZ
o Lé'q
=—71.75" MAX O.A. FRAME WIDTH —| S 3
o Z Ll
15.5" MAX. 37.75'MAX ___ To |y 28
FRAME WIDTH l-'FRAME WIDTH 2% 18 S
e
/ / "'&' 0 _gd
V4 VA == < <X
7 H P L. o [S )
O ao
S Ol =0
o) z £
g &
&
&=
3¢
8 | © O
==
BE
)
Z
o
7
|
, [r e
//l ,4/
1.5"
(TYP.)
fu
S
g
2X DESIGN PRESSURE (PSF) DESIGN PRESSURE (PSF)
CONFIGURATION | REINFORCEMENT w/ FJ PINE JAMBS w/ COMPOSITE JAMBS bate:_1/06/21
REQUIRED seuk:  N.T.S.
POSITIVE | NEGATIVE | POSITIVE | NEGATIVE oWe. BY: . RW
0. OX. OXO NO +40.0 -45.0 +40.0 -45.0 cHk. B:  LFS
’ ' DRAWING NO.:
YES +40.0 -45.0 +40.0 -45.0 TX—5142

SHEET _1 oF 10

© 2021 R.W. BUILDING CONSULTANTS INC.



Z:X\Clients\Therma Tru PERMANENT\B - Texas Dept of ins\TD} - DR XXX - 6'8, 7' & 8' Glazed FG Nonimp IS Dir Set Sidelites (TX 5140-5145)\C - Drawings\TX-5142-43.dwg

83.25" MAX. DOOR HEIGHT

1t 1) ué
1.2 G exrerior 28 'z SNy, o o
- NOTE: BOOK, HYBRID & UI DOORS | | £7=501. 5%k, g, f
i MAY EACH BE FABRICATED AS WOOD ,&‘Qj? iTi O‘% 5. ﬁ %f-"
- s QM % '
B = % 2 B OR COMPOSITE EDGE DOORS. Zf b i2I% B et 25yl
s <Kiuls 2 TN
0D \ o C 15T Y BH Zig 58
/ \ e, i3 FEX, |3 538 g
HINGE STILE INTERIOR LOCK BLOCK LOCK STILE "zg{&’;-»@i Ll Z2g 5 LR
(ENGINEERED WOOD) 12.5'LONG (WOOD)  (ENGINEERED WOOD) My 2 e § oW &g
/"1 HORIZONTAL CROSS SECTION s 932wk
\2_/ WooD EDGE 2 2ok o
1.2" 2 Baf gk
L |t I U o o8
0.41 ] 1z EXTERIOR 1.875 »1 . 041" : § :
' TV £ @ gg
$ 1 ;
= N 2
‘ n COMPOSITE "
! CAP
COMPOSITE INIERIOR LOCK BLOCK S :é
AP e Gmggig%% oD) 12.5' LONG {WOOD) HINGE STILE 28| &
/~ 2"\ HORIZONTAL CROSS SECTION (ENGINEERED WOOD) TOP RALL T |59 @
\2_/ COMPOSITEEDGE (COMPOSITE) R EE
o
/ LJ":IQD L)
36.0" MAX. DOOR - 35813"MAX.DOOR ____ __ 35813'MAX.DOOR ___, (CI)ON*\)Pg\Sl::[E/ 1 H% @ §
PANEL WIDTH PANEL WIDTH _ S
PANEL WIDTH I ENGINEERED WOOD) N S 5 ©
g - ; o 8 >
I & <
| roamcore — - -
(POLYURETHANE - 5 =
TS S 1.9 PCF MIN.) i
O F - -
) 78}
= 2 ol = | / # =z
38 & 2 5 INTERIOR o EXTERIOR INTERIOR ! EXTERIOR S
v & i 4
O x €I [T \Q\ B:
E & & i @“ &
= 9§ 3
o % — % -+
R - {
o i %
> N < w
<8 S , <
é =N o :'% =
} : FIBERGLASS SKIN oaTE: 1,/06,/21
T BOTTOM RAIL ' ‘ DWe. BY:  RW
| o~ 1.7 —] (COMP.) 1—<’ 171" —»I cHK. BY:  LFS
DRAWING NO.:
{3\ VERTICAL CROSS SECTION /4 "\ VERTICAL CROSS SECTION | v 5142

>
(49) D00k PANEL
BOOK

‘ DOOR PANEL
Hybrid Door

>
‘Low
U1l Door

\2_/ WOOD EDGE

W COMPOSITE EDGE

SHEET _2 ofF 10

© 2021 R.W. BUILDING CONBULTANTS INC.



ZA\Clients\Therma Tru PERMANENT\B - Texas Dept of Ins\TDI - DR XXX - 6'8, 7' & 8' Glazed FG Nonimp IS Dir Set Sidelites (TX 5140-5145)\C - Drawings\TX-5142-43.dwg

G162

y/i
7

PVC INSERT
BACKBEDDING

COMPOUND ™

18 GA. X 1" BRAD NAIL
(LOCATED 1-1/2" FROM ENDS

& 4" O.C. THEREAFTER)
E BACKBEDDING — |
COMPOUND
@ HORIZONTAL CROSS SECTION
3 .
15.5" MAX.
FRAME WIDTH
13" MAX.
D.L.O WIDTH
| /
Va
Lo )
58 /|
UIJ xT
¥ O
< o EXTERIOR y INTERIOR
2 2
2 g
/
74
7

Vi

g
ey

|

——1/2" GLASS BITE

— 1" O.A. THK. GLASS

™ AR SPACE

O

STEEL SPACER
GLAIING STOP (7/16')

GLAZING DETAIL
1" Insulated Glass

/" 2"\ VERTICAL CROSS SECTION

@ DIRECT SET SIDELITE FRAME \3/

1/8" TEMPERED
GLASS

1" O.A. THK. GLASS ——=

STEEL SPACER

GLAZING STOP
(716"

SIDELITE
ADAPTER

1/8" TEMPERED
GLASS

1/8" TEMPERED
GLASS

PVC INSERT

BACKBEDDING
COMPOUND

18 GA. X 1" BRAD NAIL
(LOCATED 1-1/2" FROM ENDS
& 4" O.C. THEREAFTER)

BACKBEDDING —

COMPOUND

AIR SPACE

<:> GLAZING DETAIL
1" Insulated Glass

1/8" TEMPERED
GLASS

1/2" GLASS
BITE

AN

BACKBEDDING
COMPOUND

=—1/2" GLASS BITE

— 3/4" O.A. THK. GLASS

1/8" TEMPERED
L Glass

T~ ARSPACE
1/8" TEMPERED
GLASS
STEEL SPACER

GLAZING STOP (7/1¢')

() GLAZING DETAIL
3/4" Insulated Glass

1/8" TEMPERED
GLASS

3/4" O.A. THK. GLASS

AIR SPACE

1/8" TEMPERED
GLASS

/.
4

d
[_ 1/2" GLASS
BITE

STEEL SPACER
GLAZING STOP
(716
BACKBEDDING
SIDELITE COMPOUND
ADAPTER

GLAZING DETAIL
3/4" Insulated Glass

Lyndon F. Schmidt, P.E.
TEXAS P.E. #104123
813.659.9197

P.0. Box 230 Valrico FL. 33585
TEXAS BOARD OF PROFESSIONAL ENGINEERS

BUILDING CONSULTANTS, INC.

Documents Prepared By

Phone No.:

CERTIFICATE OF REGISTRATION # F—11852

THERMA~TRU

FIBERGLASS DOOR
SIDELITE PANEL DETAILS

PART OR ASSEMBLY:

PRODUCT:

BY

NOJ DATE

REVISIONS

oatE: 1/06/21

SCALE:  N.T.S.

DWG. BY: RW

CHK. BY: LFS

DRAWING NO.:
TX—-5142

sHEET _ 3 oF 10

© zoz1 R.W. BuiLping ConNsuLTANTS ING.



‘ON| SLANVLINSNOY oNIQImg "mMm°yd L2202z @

Ze8il—4 # NOLVHLSIOZM 40 ILVOLILNIO SNOISIAZY -
SHIINIONT TWNOISSIH0Md 40 Quvos SVXIL Ad _ Aiva [ON|«— o
SNOILYATT3 ~lglEle] o=
LBL6'6G9°CLE ION Suold : N ¥
S6SEE 14 OOMIDA OSZ *0H "O'd \Su@. -ATGN3SSY ¥0 Ldvd < TN, ~ a 5 S
"ONI ‘SINVLINSNOO ONIaTINg S I S R N 4_
¥00d SSY19434ld 1 1ElElg B
SZLHOL# “3'd SvXaL NAL—YWHIHL il m ol x| B
‘A'd PILYDS 4 UOopuUkT Ag pedodesd sjuswnoo( :1oNaoNd ZI8IElS W 5
=)
o
L
i i
o oc
s
2 2 “n o
% LOWIHOS 3 NOONAT 2 5 i
X% iy o
.,\w ¥ . & ¥ e g <
R 4 2|33
T g AN L2555
Misppeseet™ &
< o ar
o 2.8
o g &g
< 23|83
= Sal|£a
s 4
<
T
0 W w
S | £
h v q @ ”

/

ELEVATION
0)(0)

| 1
N 1
I
r |
Y I ]
=
x| I 1 =
wn®
HE
-l O ==
» HER
By D
Olg &
Ol 2T
/E nmm
Slg &
- N
[ 08 o
< YRS
T * DOm
(&) 5
o N 5|S2
A == =|5E
< DNE S
5 KR
2 Sl5 &
T L3
o0 o Elo &
] smw
> Sle &
MF o
a2 o
O.mnru
O|2E
|5 E
g5 =
Q|0
(e b
f
]
o

ELEVATION
XO
4

Bmp'ep-zrLS-X1\sBumeIq - D\(SPLS-07LS X1) SBNBPIS 39S i S| dWIUON D4 Paze|9 8 1 L ‘8.9 - XXX ¥ - 1AL\su] 40 1da( sexal - a\LNINVINYId N1 BULBY\SIUSIDN'Z



'ON SINVLINSNGD aNiaing "M'd 1802 §

ZSBLL—4 # NOWUVMISIORN 40 ALVOIHILNIO SNOISIAZY
SYIINIONT TYNOISSIAONd 40 a¥vod SvXIL mzm&w@mﬁmwmmo AH 31V3 [ON Slalzlo]l o O_
w0 vy A
. LEL6'659'CLE "ON euoyd ; N cixelb] ¥ e
GBGEE 14 OOLIPA 0CZ XOf .o.a\h\h@ ATENESSY ¥0 Ldvd % M 5 mlu a
"ONI “SINVLINSNOD ONIdTINg N . z | 5_
4000 SSY1943414 = &g P
SZLHOLF "3'd SVXAL NYL—VAAIHL g AFIE &
'd IPILYDS "4 UOpUAT :Ag pesodeld sjuswinsog 10NG0Nd b= W 5 W 5

Y
DGO Ad4 SV
g

/i
7

D)

27

/~4 "\ HORIZONTAL CROSS SECTION

\5/ Shown w/ Back-to-Back Jambs

GO0
N

% f / EXT. SHEATHING

INTERIOR

2
EXTERIOR

/]

D}

A\Y
A\Y

1
/" 2"\ HORIZONTAL CROSS SECTION
(0(a1)(42)

/"3 "\ HORIZONTAL CROSS SECTION

W Shown w/ 2X Reinforcement

9

2

EXTERIOR
INTERIOR

/i

“1 <

2
L.
2 (@e@

m HORIZONTAL CROSS SECTION

W\
A\

DS

myc

EXT, SHEATHING 0.15'C
R

Bmp £p-ziL5-X1\sBuImeIq - D\SPLS-0rLS X1) SOH[BPIS 395 Jid Si dWUON D4 Paze|D 8 18 .L ‘8.9 - XXX ¥a - IA1\sul Jo 1daQ sexal - g\LNINVINYId NiL BUBY\SIUSIDNZ



‘ON] SINVLAINSENOD aNIaTing "‘m's L 202 §

ZS9Li—d4 # NOUVMISIONN 40 ILVOLALMEO SNOISIAZY :
SHTINIONI TVNOISSIA0Nd 40 QuvoE SvXal mzoﬁ%%wmwmomo Ag 31vd JON Slolslo]l o O_
] L =
LBLE'B6S9'TLY I'ON suoyd : NelEE Iy
S6SEE 14 OSMIDA 0£Z Xod ‘O'd \h\wg “ATENASSY 80 Ldvd S .M g v °
*ONI ‘SINVIINSNOD ONiaing N . z | 6_
d004 SSY1oM3did = 1ElEle X
€ZIYOL# I'd SYXIL NYL=-vYAY3HL 2] m gly w b
"“I'd IPIWUYDSS ‘4 UOPUAT  :Ag pedpdeld syuewinoog 110NA0YHd EAEREIE %
w w
o 7
z Q O
s} Q z
A © O
=z O =z
x (o) B
O 0
& o
><
o S S
. B I T p
<|=
(el SB
® @
3 o @
5 S
& g oz
= A =
&S a Z
o]
-
QO
I M
O
&
D .S
\ ® ¢
® =
=
<
=
Y
o
fa)
[N}
I
o)
g 2
S z 0O
o
o) i ) o
oc
Ll
=
N -]

A

A

/"3 "\ VERTICAL CROSS SECTION

W Inswing Sill

INTERIOR

(0a(@2)

EXTERIOR

e
DRYWALL\ f{ ‘;l
/"1 "\ VERTICAL CROSS SECTION

INTERIOR

1. Sill ltem #'s 32 & 33 are attached to jombs
w/ {3} #8 X 2-1/2" FH screws at each end.

Note:

Bmp ep-2L §-X L\sBUIMBIQ - D\(SPLS-0FLS X1) SSHIBPIS 195 41 S1 dWIUON D4 PazelD 8% L '8.9 - XXX ¥d - IQL\su} jo 1deq sexa) - G\LNINVINYI NIl BULBYL\SIUBIIDNZ



ZA\Clients\Therma Tru PERMANENT\B - Texas Dept of Ins\TD! - DR XXX - 6'8, 7' & 8' Glazed FG Nonlmp IS Dir Set Sidelites (TX 5140-5145)\C - Drawings\TX-5142-43.dwg

4'(TYP))

4 (TYP) —|

JAMBS/
MULLION

I

)

HELL »l
)

I TIIT 1
o
— _ — =
o
HEAD & JAMBS
(TYP.)
_BACK-TO-BACK B _ ]
2X REINF. R
" {TYP.) s
| 3%
WOOD Q 0 S
CONCRETE o
- SILL {TYP.) — r—
i i J }]
o CONCRETE

XO/OX

SouriBi by
ALt
= ‘f}' T
‘ gl % i3 i%
r AN
* A % Hha
(3) #8x 2-1/2" g;?;, Ho R
B N PFH WS R xin i
0 JAMB TO HEAD DETAIL T
/i (TYP.)
/4
TOE-NAIL DETAIL @ HEAD
TYPICAL @ EACH 2X REINFORCEMENT
JAMBS/
. MULLION
m 4 [TYP) —1
4 (TYP.) ——
0 : !
RS I 1 I 1
o
— —_ — —_ =
HEAD & JAMBS e
/ (YP)
2X FRAMING — _ |
(TYP.)
BACK-TO-BACK
L} 92X REINF. s
rd (T¥P) £
DOOR FRAME 20
(TYP.) - - woob  — - -“o
CONCRETE FRAME
L (TYP.)
—_ - SILL (TYP.) - -
 — I L1 \
1 gl A\ W4
/ % —
wooo (@)

FLOOR SUBSTRATE MATERIAL (TYP.)

CONCRETE {MIN. 3000 PSl)
WOOD (8.G. >=0.42)

FRAME ANCHORING

300/\
A
!

TOE-NAIL DETAIL @ SILL

TYPICAL @ EACH 2X REINFORCEMENT

W
LY
-
o
23
Eg a
L* n
[ ¢ N 19
0 u 9
o
™ N
LLP"
:g b
o o @
T Q O
€ T 0
2 e
>m
ow
0
N
x
o
m
(8]
o

BUILDING CONSULTANTS, INC.

Documents Prepared By

Phone No.:
TEXAS BOARD OF PROFESSIONAL ENGINEERS

CERTIFICATE OF REGISTRATION # F—11852

THERMA—-TRU
FIBERGLASS DOOR
FRAME ANCHORING

PART OR ASSEMBLY:

PRODUCT:

NO.) DATE

REVISIONS

DATE: 1/06/21

scAE:  N,T.S.

DWG. BY: RW

CHK. BY: LFS

DRAWING NO.:
TX—-5142

SHEET _7 oF 10

© 2021 R.W. BUILDING CONSULTANTS INC.



TONG SINVAINSNOD aNiamg

‘M LZ02 O

2G8LL—d # NOLVMISIOZN 40 ILVOIHLLYNIO SNOISIAZS :
SHIINIONT TYNOISSIH0¥d 40 Quvod Svyxal SIVIIA FHYMANYH Ad 31vd [ON S slzlo] o m_
. . . - / o L ~¢
s65e¢ wﬂmommwo\m anuom.o% c.n%u_ \N\wg ATHNISSY H0 1¥vd Q M - 3 5 S
“ONI ‘SLNVLINSNOD ONIaHng N . z | 8_
004 SSY19¥3814 = 1&lEle X
SZLYOL# "3'd SvXaL NAL-VNAIHL plYlel z &
‘I'd WPILUSS "4 UOPUAT  i:Ag paedpdeud sjuewnoog :10naodd HAEIEHEE %
4
{
0.5 .
= &G Z
25 ezipoL NG 5 %
P I R T T T A L L i :...u\ A
% LQINHOS 3 NOONA1 5 8 3
‘.szko.:ﬂ” ...... oooo:w; oon kﬂ. \0» w m.
“ s P
.Nx.%.:... \w .....ﬂhm...‘ m o
KTy S 2
#5.53//.?.(? 0®
=
<
/ I
Q
Y or s 1) =z &
® =
I *
el/o,
® < v o
AWVl 40 JOOd QgAH/ LN
dOLWO¥4 .SZ1'1 1 (dAL).SZ'6T
AV 4O - JOOJ NO0
dOL WO ST 11 ('dAL) .ST'62 a
. @ ® & M
‘,., * L} — w
o 1
% m | I m
Z = <
w
g
~— (5" 7} .88 _
]
:m.m €0 T
o
= 28
[ )
" — ] ¥E
a| O
55
g
jo—
0O
Sk
58
=2
W <
X
= o
® = &) o
- <
—
®_ 5 5 P
- = el
<60y | ez 5| = 8ls O
\ Fr—= 37 F—= 3¢ &
\ HE \ 3z 9
wl> . Qi A
- = a
x 5 Q
e
e < L
] =
o
S

BMp -2 L §-XL\SBUIMBIC - D\SELS-0FLS X1) SSUIBPIS 195 41 S dWIUON D4 Paze9 81 L 8,9 - XXX ¥d - 1d1\su} o 1daq sexal - S\ININVINYId NIl BULBYI\SIUYDNZ



"ON] SLNVLINSNOD aNigung "m's 1202 Q9

Z8Li—d4 # NOLVMISIORM 4O ILVOIHLLNIO SNOISIA3Y :
SHIANIONI TYNOISSIIOMd 40 QuVOE SvX3L SIVIIA ONIZYIO Ad 3lvd [ON Slalzlo]l o O_
- S F -
L6L6°6S9°C18 TON Buoyd : o=EE] I
SESET 14 OOUIBA 0Z %0g .o.m\h\w@ ‘ATBW3SSY M0 Livd nnw m 55 G
"ONI “SINVLINSNOD ONIQTING N el 9_
4000 SSV19438l4 =B Ele &
STLPOL# '3'd SwxAL NYL-VAAIHL g m g|x|Z B
"3'd IPILUDS 4 UOPUAT  iAg pedpdedd sjuewnsog -LoNaoyd HEIEEE ]
2 AL
AN
o Uz ﬂmn\.
PR
Fap a0 RACAA
Z5 seipoL 30,
“««: o. :oc-..‘:o.'o.:na:::cvo: am\_

x
LAINHOS 4 NOGNAT ¢

AT E AN .
oL 30 3%F . R340 -—
ARl _ m 2’0 XYW .ZL «
: - o
4 - m
_ S
O =
L -
SF G “ £
SE =
~N o
(V0]
* \ z
- . =
HOEH'OTA.ZLE? i
3
x5
o O
T
oo
:QW.OJ _lllnl
X3
R =
[
7S¢
o BIg
w3l &
* &=
Tl:N._.lL @
o o 3 g
2 G o
(V] ]
a o 2 2
= & g & u &
(70} [
173 Q. QO Q. M = m =
- < Z O W a ]
;& 2 5% i 5 » = % e
H = < = Z = <
s & & ® / &
v — ned [73) —d
< & = | \ 5 =
v
o = | o S B
&~ > Qe = G| Pw
=~ /A e g0 el ]
- OIF ¢ VIR
— S|es | 259
S|o8 UG8
i 0|88 d|28
== = Qa
2., W NN
N o ns
O] -~ O & Qo0
ND - 2 7] _.n._mnr
55 =<3 3 1/ e =
DO vx‘//‘ OD.. M mo
Ua W R E %) <0
= a- &~
50 = o
i =
Z [274
& o)
& (o]
O Q
Q
A

Bmprep-ziL§-X1\sBuimel - D\SpLS-0pLS X1) SBMBPIS 195 41d S| dWUON D4 Paze|D .8 1 .. ‘8,9 - XXX YA - 1aL\sul 40 3daq sexat - G\LNINVINYId NiL BULBYI\SIUSIDN'Z



ZA\Clients\Therma Tru PERMANENT\B - Texas Dept of Ins\TDI - DR XXX - 6'8, 7' & 8' Glazed FG Nonimp IS Dir Set Sidelites (TX 5140-5145\C - Drawings\TX-5142-43.dwg

BILL OF MATERIALS

ITEM # DESCRIPTION MATERIAL
B | 2X BUCK (G >=0.42) WOOD
C | 1/4" MAX. SHIM SPACE ;
D | 1/4" PFH DeWALT OR ITW CONCRETE SCREW STEEL
F | #10 X 2" PFH WOOD SCREW STEEL
L | #10X 2-1/2° PFH WOOD SCREW (1.15" MIN. EMBEDMENT) STEEL
Q | #10 X 3" PFH WOOD SCREW (1.75" MIN. EMBEDMENT] STEEL
R | 3/16 X 3-1/4" TW CONCRETE SCREW STEEL
X | 2X REINFORCEMENT [SG = 0.55) WOOD
1 | WOOD JAMB [FINGER JOINT PINE ) WOOD
2 | COMPOSITE JAMB COMP
7 | WEATHERSTRIP FOAM
8 | DOOR SWEEP VINYL
10 | #10X 1-1/2" PFH WOOD SCREW STEEL
11| #12X1-1/2" PFH WOOD SCREW STEEL
22 | #8 X 3/4" PFH WOOD SCREW STEEL
23 | #9 X 3/4" PFH WOOD SCREW STEEL
24 | #9 X 1" PFH WOOD SCREW STEEL
25 | #8 X 1-1/2" PFH WOOD SCREW STEEL
26 | #8 X 5/8" PFH WOOD SCREW STEEL
27 | LATCH STRIKE PLATE STEEL
28 | DEADBOLT STRIKE PLATE STEEL

28A | DEADBOLT SUB STRIKE PLATE STEEL
29 | 4'X 4 HINGE STEEL
32 | INSWING THRESHOLD ALUM/COMP
33 | INSWING THRESHOLD w/ SIDELITE ADAPTER ALUM/COMP
40 | DOOR PANEL (BOOK] ;
41| DOOR PANEL [HYBRID) -
42 | DOOR PANEL (U] :

CONCRETE ANCHOR NOTES:

. Concrete anchor locations at the comers may be adjusted to maintain the min,

—

edge distance to mortar joints.

. Concrete anchor locations noted as "MAX. ON CENTER” must be adjusted to

maintain the min. edge distance to mortar joints, additional concrete anchors
may be required to ensure the "MAX. ON CENTER" dimension are not exceeded.

. Concrete anchor table:
TAPCON® 1/4 1-3/4 2 4
DeWAILT " " " "
luirracon$] V4 1-3/4 1 4
Tw " " " -
TAPCON® 3/148 1-1/4 3 1-1/2

WOOD SCREW INSTALLATION NOTES:

. Maintain a minimum 5/8" edge distance, 1" end distance, & 1" o.c. spacing of

wood screws to prevent the splitting of wood.

1.25"

456" g
[e]
w -

236" !

( : > WOOD JAMB

whuRh Y
-Q}': Yo :\111

' -
o .
Fer ol ¥
0“.
.

2 LYNDON F. SCHM

»

-—y
.

zliq
%

» Y “".1“0"4”1"2"3"““

4.56"

X
L
o

'—~————>r—- 1.25"

0.5"

- 5.83"

32 INSWING THRESHOLD

Adjustable Composite Sil

I——z.o ]

SIDELITE
ADAPIER

246"

5.83"

33 INSWING THRESHOLD w/ SIDELITE ADAPTER
Composite Silt

W,
0N
£%
8o
Eg a
£ 0
0 ., ¥
W ul ¥
« . .
e _18
u"l—
5 o
] o9
vg oo
£F E£8
2 G @
>n
o
el
o
x
]
il
(]
o

BUILDING CONSULTANTS, INC.

Documents Prepared By

Phone No.:
TEXAS BOARD OF PROFESSIONAL ENGINEERS

CERTIFICATE OF REGISTRATION # F—11852

o 7]
S L2
) i
Loy e ‘:(%
2 |4 =g
£ |f L3
G = Lo
& |4 OO
T |9
@ |2 I
g T | ®
a (o]
o ke
o x
&
)
=z
O
2]
e
L
<C
o
O
bl
pate: 1,/06/21
scae: N T.S.
DWG. BY: RW
CHK. BY: LFS
DRAWING NO.:
TX-5142

sHeer 10 oF 10

@ 2021 R.W. BUILDING CONSULTANTS INC,



